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Ja-dl : (1) e3s usdl omell ouy oel salda 8.
(2) %39l vwadl wal-l eezd safadl.

1 A AL AR sulEdl uell Raserr, 20174 g0, 2018 20
Yl 2R HIRA A3 o2 dUIR S ¢
Y qel v3l¢l wy?l (uAe wA
2)152612-2017 2,20,000 | 1,60,000 | 20,000| 30,000
326(3-2017 1,80,000 | 2,00,000 | 24,000| 28,000
RA2-2017 2,00,000 | 2,20,000 | 30,000| 32,000
ANy2113-2018 1,50,000 | 2,40,000 | 32,000| 34,000
3920131-2018 1,60,000 | 2,60,000 | 34,000| 40,000

i+l Hiledl :
(1) di. 1-12-2017-1 A% A 2R A5 Pas 3. 60,400 &.
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(4) Hg @ e wal-{l ysaell-l aue % HIY 6,

(5) 3. 54,0000 2Ala5d3 32U, 201841 Ysadl Ulol 4.
wYql

1 (a) »delwust gL vige 2d g ? vislwolld vigusil siwel A 10
wylglil qgldl,

() e 2R islguai-l siael aeld). 10
2 B axq 0l uHiRid MHae A Yoo st © ¢ 20
STERTRE) | G.ooa (x) | B.a €ls wwe euq
X 50% 5
y 20% 4
z 30% 10

Gaule-lil MHBL 82 slud sl sHIAL 107 8. il efour-l
A9 Bud <l vwv Gaulest 7,200 (3.2, 2 8. v qudd
M 2 dfl uddx 1A Yoo © ¢

TR TR 3.a1. G.ai. €ls wwe euq
X 4,160 5.50
y 1,680 3.75
zZ 2,560 9.50

GUAsd [@o1d wHl Al [Raa-dl 2wl e
(1) s vl Raa-
2) HEA™IA ol [RAas

HaAHIA Beel Raa«

(2)
(3) HAUMHIA qup [Qadq
(4)
(5)

5) HlauMA Quw [dadq

wYdl
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2 C sudlul A5 Ganest w2 Asda wos{l Bud (wue)

{la yoo ® ¢
[aord sdisl salsels | sa ysqell
(wai1e1) 3oyl €2
s 8 4 32
»d-gau 5 3 15
[--gaa 11 2 22
69

20

VMR Geule 500 2sHl 4y, AR Gedletell [do1dl A Heso

0 :
[aad CELE] salsels | ga ysaell
sdisl 4yl €
U0 5,000 5 25,000
wH-gua 3,000 3 9,000
[Bir-sa 6,400 1.50 9,600
14,400 43,600

Gudsa [adl vl :

(1) w9l wal Raad

(2) Rl e Raad

(3) Rl sidamal Raaq

(4) w9l Bl Raas

<l aiddl s
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3 Al ol wdl D Rl daeiA @dldl [aasl k) 15
(1) Qe 4 [Raad
(2) Qe Bud Raad
(3) Qauel e Raas
(4) Qe Mawl Rads
UETL] CELE]
x| el | due sd weql | dael sd
(As4)) | Baud W | (AAsa)) | Bua WY
X 5,000 5 25,000 6,000 6 36,000
y 4,000 6 24,000 5,000 5 25,000
zZ 3,000 7 21,000 4,000 8 32,000
12,000 70,000 15,000 93,000
YAl
3 () yeu s Radverl uBar yxendl. 8
() opRlarl uda+l i ). dRlarl uddr ao(lsrel 5 7
dd s 7 o duemdl.
4 sy il :
(1) QAelal @asias YR 8
(2) asuild udr. 7
wi2dl
4 sy il :
(1) sies wdr [sdwel 8
(2) wal 2uadld 43dr Falel. 7
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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.
(2) Show necessary calculation as a part of answer.

1 From the following information of A Ltd. prepare a 20
cash budget for the three months from December-2017 to
February-2018 :

Month Sales | Purchase | Wages | Overhead
October-2017 2,20,000 1,60,000 | 20,000 30,000
November-2017| 1,80,000 2,00,000 | 24,000 28,000
December-2017 | 2,00,000 2,20,000 | 30,000 32,000
January-2018 1,50,000 2,40,000 | 32,000 34,000
February-2018 | 1,60,000 2,60,000 | 34,000 40,000

Additional Information :
(1) Cash and bank balance on 1-12-2017 is Rs. 60,400.
(2) Terms of purchases and payments :

- 75% credit, 25% cash

- Credit allowed by creditors is 1 (one) month.
3) Terms of sales :

- 20% cash, 80% credit.

- Collection policy :

* 40% in the next month of sales.

* 60% in the second next month of sales.

1
(4) The time lag in payments of wages and overhead is ) month.

() Income tax is to be paid for Rs. 54,000 in February-2018.
OR

1 (@) Define budgetary control and state advantages 10
and limitations of budgetary control in briefly.

(b) Explain the advantages of zero based budget. 10
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The standard mix of a B product is as follows : 20
Materials Kgs. (%) Price per Rg. Rs.
X 50% 5
y 20% 4
zZ 30% 10
The standard loss in production is 10% of the input.
There is no scrap value. The actual production was
7,200 kgs.
The actual consumption of materials and cost were as
follows :
Materials Kgs. Price per Rg. Rs.
X 4,160 5.50
y 1,680 3.75
z 2,560 9.50
From the above information, Calculate the following
variances :
(1) Material cost variance
(2) Material price variance
(3) Material usage variance
(4) Material mix variance
(5) Material yield variance
OR
Date of labour employed in C Company to produce one 20
unit of product is as under :
Particulars Hours Wage rate Total
(Standard) | per hour payment
Skilled 8 4 32
Semi-skilled 5 3 15
Un-skilled 11 2 22
69
Actual production of the product is 500 units.
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Data of actual production is as under :
Particulars Hours Wage rate Total
(Actual) per hour payment
Skilled 5,000 5 25,000
Semi-skilled 3,000 3 9,000
Un-skilled 6,400 1.50 9,600
14,400 43,600

From the above information calculate following variances :

(1) Labour cost variance

(2) Labour rate variance

(3) Labour efficiency variance

(4) Labour mix variance

3  From the following information of D Ltd. calculate 15
the sales variances on the basis of given data :
(1) Sales value variance
(2) Sales price variance
(3) Sales volume variance
(4) Sales mix variance
Standard Actual
Product| Quantity | Sales | Amount | Quantity | Sales | Amount
(units) | Price Rs. (units) | Price Rs.
Rs. Rs.
X 5,000 5 25,000 6,000 6 36,000
y 4,000 6 24,000 5,000 5 25,000
zZ 3,000 7 21,000 4,000 8 32,000
12,000 70,000 15,000 93,000
OR
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3 (a) Explain the value chain analysis process. 8

(b) Explain meaning of quality cost. Discuss the 7
classification of quality cost in detail.

4  Write short notes :
(1) Product life cycle costing
(2) Target costing. 7
OR
4  Write short notes :
(1) Strategic cost analysis
(2) Activity based costing - ABC.
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